Response Ratio

Bromomethane

Amount Ratio

Resp Ratio = 2.04e-001 * Amt + 2.38e-002

Coef of Det (r"2) = 0.992

Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_X\METHOD\82X071618W.M

Calibration Table Last Updated: Mon Jul 16 13:15:28 2018




Chloroethane
Response Ratio

Amount Ratio

Resp Ratio = 3.51e-001 * Amt + 1.72e-002
Coef of Det (r"2) = 0.998 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_X\METHOD\82X071618W._M
Calibration Table Last Updated: Mon Jul 16 13:15:28 2018




Methylene Chloride
Response Ratio

1.8+

1.6+

1.4-

0 0.5 1 1.5 2 2.5
Amount Ratio

R = 6.55e-002 A*A + 3.76e-001 A + 4.43e-002
Coef of Det (r"2) = 0.994 Curve Fit: Quadratic

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_X\METHOD\82X071618W._M
Calibration Table Last Updated: Mon Jul 16 13:15:28 2018




